Progression: Medium Year 3

Addition Problem Solving (B)

Solve the following problems.

Name

Class

Date

A girl weighs 55 kg. A boy weighs 16kg more |Answer:
than the girl. How much does the boy
weight?

A jacket costs £75 in the sale. After the sale it JAnswer:
cost £22 more. How much is the jacket after
the sale?

On Monday Jimmy scores 354 points in a Answer:
computer game. On Tuesday Jimmy scores 82
points more. How much does Jimmy score on
Tuesday?

There are 233 adults in the theatre. There Answer:
are 128 children in the theatre. How many
adults and children are in the theatre?

Find the total of 574 and 289. Answer:

| am counting forward in steps of 23. Answer: -

143, 166, 189. Write down the next two .
1 i |
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How confidently can you g Your Score

solve addition problems?

Not confident Fairly confident Very confident
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